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EIKE ¢ 25044 F & 1/1
T i & Al B I:-¥iv) 1

B3 IVEHEHE SHE. AEMAE 7]

GXfz EE ¢ 250 x 5. 000m 93 V. 88 5

B84 IEEHE RE R

GXFz HIE ¢ 250 x 45° 3 & 3

B84 IEEHE RE R

GXT BhE $250x11 1/4° 3 1@ 3

B3 IVEHEHE RE R

GXFz XEIERE FHTFE $250% ¢ 75 1 & 1

B84 I EEHE RE R

GXTz frém ¢ 250 2 & 2

B84 IEEHE RE R

K# E2R%E 350 x ¢ 250 1 @ 1

GX# 47 ¢ 250 8 #8 8

GXfz EREEEATS ¢ 250 4 A 4

P—Link @250 2 #H 2

G—Link @ 250 7 #H i

K 455k ¢ 350 1 i 1

RF x GF

FCD Mo v oEE ¢ 75 %150 1 & 1
RF

wWER ¢ 75 %150 1 = 1
RF

TEREELRST ¢ 25 1 = 1

EIFE $#%E. BOX. ER 1 #H 1
RF

TS0 EAEM @75 1 #H 1
GF

IS VCEAEM @75 2 #f 2

HA~<—H— MK-1W 26 & 26

HEER Xk Bk BEE2Z0[ ¢ 250 1 & 1
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4. 168
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ID I I b 4. 351 0.000 | 0.649 1
3. 447 1. 958
ID I I ! B 3.442 1.558 | 0.000 1
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§ 15. 506 0.000 | 4.563 | 4.931 5




1EKE ¢ 2507 5% 1/1
£ o K ~+iE B ¥ = s
B
HBHEMSRT ¢ 250 m 465. 514
EEES

GX#FT @ 250 m] 94 93+1 (BEE&kiEs:)

EnREES
GX#FT @ 250 m] 4

P—Link
GX#FT @ 250 m] 2

G—Link
GX#FT @ 250 m] 7
K455 TR T T ¢ 350 m| 1
HEHREUNT @ 250 m] 5
BRI EESEYIINT ¢ 350 m] 2
RYIFLUR)—THET #HMIH ¢ 250 m 465. 514

1@ 30mm (f° YIFLYInR)
EHRT—JI MIH ¢ 250 m 465. 514
1 150mm

EHRV—FI HMIH AITILHY m 465. 514
TSUCHET ¢ 75 m] 2
ERFFET ¢ 25 £ 1
ERARYIRFRET Mfz45 =X 1
BKRET ¢ 800mmLL T m 465. 514




P20 X K EHM KX I EF LT EEH X
% [ Ak - ik &t 1 2 3 4 5 6 7 8
{R{&IR
As
SRR T t=15cmE T 872.70 762.70 | 50.00 | 20.00 @ 20.00 | 20.00
AUKALIET As&hzE 1.00 872.70x0.05%0.023=1. 004
SRR AR As
IEHIFRAT t=5cm 286. 13 247.88 | 16.25 | 6.50 6.50 | 9.00
HEWMIEA - AT mEt 184. 11 145.01 | 10.48 4.29 | 4.39 | 6.75  10.21 1.77 1.21
KEIL—Ah

HEMIEA - AT AR (#E) 184. 11 145.01 1 10.48 4.29 | 4.39 | 6.75  10.21 1.77 1.21
HLIAMET T8 184. 11 145.01 | 10.48 4.29 | 4.39 | 6.75  10.21 1.77 1.21
HRLTMET A 184. 11 145.01 | 10.48 4.29 | 4.39 | 6.75  10.21 1.77 1.21
TAI7VMEERALEE T AstiE 14. 31 12.39 | 0.81 0.33 | 0.33 | 0.45
HMERT e 147.57 119.55 | 7.84  3.14 | 3.14 | 456 8.07 0.84 0.43
HERT RC-40 35. 69 24.79 | 3.58 1.63 1.82 | 3.87
HmiERT FET 15. 38 10.88 | 2.60 = 1.90
BT & RC-40
TREEEZET t=35¢m 286. 13 247.88 | 16.25 | 6.50 6.50 | 9.00
BTE M-40
LERET t=15¢m 286. 13 247.88 | 16.25 | 6.50 6.50 | 9.00
BT & BEEHAs
REIBRXREBT t=5cm 286. 13 247.88 | 16.25 | 6.50 6.50 | 9.00

W=0.90m
ZefRREAT H=2. 00m 10. 00 10. 00

W=0.90m
ZEfRREAT H=2.50m 1.84 1.84

W=0.95m
ZefXREAT H=3.50m 0.82 0.82




IEREETR

%

= £ g n # THY = & &t
EKE

1 HBTiEAsEHEE DIP-GX ¢ 250 0.85 [305.000 + 76.350 381. 350
EKE iy

2 ETEAsEHE DIP-GX ¢ 250 0.97 |25.000 25.000
EKE iy

3 BT EAsEHE DIP-GX ¢ 250 1.00 10.000 10. 000
EKE Fiy

4 BTEAsEHE DIP-GX ¢ 250 1.03 10.000 10. 000
EKE iy

b BT EAsEHE DIP-GX ¢ 250 1.18 10.000 10. 000
EKE

6 HA DIP-GX ¢ 250 0.85 |25.740 25. 740
EKE Fiy

1 BR DIP-GX ¢ 250 1.77 1. 840 1. 840
EKE

8 B DIP-K ¢ 350 2.64 | 0.820 0.820




1. BT EAsEE ¢ 250 DP= 0. 850
£ i RAR~TiE& it g # £ & =
As m
SHERRYIER T t=15cm¥%E T 381.350 x 2 % 762.70
S AL iR EIE As m2
EEITEAT t=bcm 381.350 x  0.650 247.88
m3
HiiEE T EL 190. 675 x 0.650 x 1.170 145. 01
m3
HEE T =] 190. 675 x 0.650 x 1.170 145. 01
HIEE BT m3
FBtmET T 145. 01 145. 01
iR & m3
BtmmET = 145. 01 145. 01
m3
TRAITWMEEM LR T Asii 381.350 x 0.650 x 0. 050 12.39
m3
BHIBERT LD 381.350 x (0.650 x 0.570 — 0.057) 119. 55
m3
BMIBERT RC-40 381.350 x 0.650 x 0.100 24.79
RC-40 m2
TRRET t=35cm 381.350 x 0. 650 247. 88
M-40 m2
LTERET t=15cm 381.350 x 0. 650 247. 88
BEEHAs m2
REEREL t=bcm 381.350 x 0. 650 247. 88
EiEREE 0.270%x  3.14 = 4 = 0.057




2. BTEAsSHE ¢ 250

T15DP= 0. 970

£ i Akt &t g b = B =
As m
SHERRYIET T t=15cm%E T 25.000 x 2 % 50. 00
% AR AR As m2
IRAEITEAT t=5cm 25.000 x  0.650 16. 25
m3
MR T mEL 12.500 x  0.650 1.290 10. 48
m3
MRS T = 12.500 x  0.650 1.290 10. 48
HiiEY mEL m3
HtMET ) 10. 48 10. 48
IR & m3
HFtMET = 10. 48 10. 48
m3
TAT7 W EEAL ALEE T Asti 25.000 x  0.650 0. 050 0. 81
m3
MEIERT (LD 25.000 x (0. 650 0.570 — 0.057) 7.84
m3
BWERT RC-40 25.000 x  0.650 0. 220 3.58
RC-40 m2
TRERET t=35¢cm 25.000 x  0.650 16. 25
M-40 m2
tERET t=15cm 25.000 x  0.650 16. 25
BAEZHAs m2
REBXREL t=5cm 25.000 x  0.650 16. 25

EERmE 0.2702x  3.14 = 4 = 0.057




3. BTEAsSHE ¢ 250

T1+5DP= 1. 000

£ i Akt &t g b = B =
As m
SHERRYIET T t=15cm%E T 10.000 x 2 % 20. 00
% AR AR As m2
IRAEITEAT t=5cm 10.000 x  0.650 6.50
m3
MR T mEL 5.000 x 0.650 1.320 4.29
m3
MRS T = 5.000 x 0.650 1.320 4.29
HiiEY mEL m3
HtMET ) 4.29 4.29
IR & m3
HFtMET = 4.29 4.29
m3
TAT7 W EEAL ALEE T Asti 10.000 x  0.650 0. 050 0.33
m3
MEIERT (LD 10.000 x (0. 650 0.570 — 0.057) 3.14
m3
BWERT RC-40 10.000 x  0.650 0. 250 1.63
RC-40 m2
TRERET t=35¢cm 10.000 x  0.650 6.50
M-40 m2
tERET t=15cm 10.000 x  0.650 6.50
BAEZHAs m2
REBXREL t=5cm 10.000 x  0.650 6.50

EERmE 0.2702x  3.14 = 4 = 0.057




4 BTEASEHE ¢ 250

T1+5DP= 1. 030

£ i Akt &t g b = B =
As m
SHERRYIET T t=15cm%E T 10.000 x 2 % 20. 00
% AR AR As m2
IRAEITEAT t=5cm 10.000 x  0.650 6.50
m3
MR T mEL 5.000 x 0.650 1.350 4.39
m3
MRS T = 5.000 x 0.650 1.350 4.39
HiiEY mEL m3
HtMET ) 4.39 4.39
IR & m3
HFtMET = 4.39 4.39
m3
TAT7 W EEAL ALEE T Asti 10.000 x  0.650 0. 050 0.33
m3
MEIERT (LD 10.000 x (0. 650 0.570 — 0.057) 3.14
m3
BWERT RC-40 10.000 x  0.650 0. 280 1.82
RC-40 m2
TRERET t=35¢cm 10.000 x  0.650 6.50
M-40 m2
tERET t=15cm 10.000 x  0.650 6.50
BAEZHAs m2
REBXREL t=5cm 10.000 x  0.650 6.50

EERmE 0.2702x  3.14 = 4 = 0.057




5. AT EAsEHEE ¢ 250 E15DP= 1. 180
£ i Akt &t g b 2 B

As m

SHERRYIET T t=15cm%E T 10.000 x 2 % 20. 00

% AR AR As m2

IRAEITEAT t=5cm 10.000 x  0.900 9.00

m3

MR T mEL 5.000 x  0.900 x 1.500 6.75

m3

MRS T = 5.000 x 0.900 x 1.500 6.75

HiiEY mEL m3

HtMET ) 6.75 6.75

IR & m3

HFtMET = 6.75 6.75

m3

TAT7 W EEAL ALEE T Asti 10.000 x  0.900 x  0.050 0.45

m3

MEIERT (LD 10.000 x (0.900 x 0.570 — 0.057) 4.56

m3

BWERT RC-40 10.000 x  0.900 x  0.430 3.87

RC-40 m2

TRERET t=35¢cm 10.000 x  0.900 9.00

M-40 m2

tERET t=15cm 10.000 x  0.900 9.00

BAEZHAs m2

REBXREL t=5cm 10.000 x  0.900 9.00

W=0. 90m m

BEMEAREAT H=2.00m 10. 000 10. 00
EERmE 0.2702x  3.14 = 4 = 0.057




6. IZMA ¢ 250 DP= 0. 850
£ i Akt it g b = B =

m3

MR T mEL 12.870 x  0.650 x  1.220 10. 21
m3

MRS T = 12.870 x  0.650 x  1.220 10. 21
HiiEY mEL m3

BT T8 10. 21 10. 21
IR & m3

HKtMET = 10. 21 10. 21
m3

HMEIERT 1} 25.740 x (0.650 x 0.570 — 0.057) 8.07
m3

MIERT HHE+ 25.740 x  0.650 x  0.650 10. 88

EERmE 0.2702x  3.14 = 4 = 0.057




1. 35A $250 T159DP=1. 770

4 L FAK~Ti& it = M £ B =
m3
HEIEEI T HEL 0.920 x 0.900 x 2.140 = 1.77
m3
HEIEEI T = 0.920 x 0.900 x 2.140 = 1.77
iR BEL m3
KRitaET T 1.77 = 1.77
HHIEE & m3
RIaET = 1.77 = 1.77
m3
HBigERT A0y 1.840 x (0.900 x 0.570 — 0.057) = 0.84
m3
HBigERT HAEL 1.840 x 0.900 x 1.570 = 2.60
W=0.90m m
BEMEREAT H=3.00m 1. 840 1.84

EERmE 0.2702x  3.14 = 4 = 0.057




8. 15MA ¢ 350 DP= 2. 640

4 L FAK~Ti& it = M £ B =
m3
HEIEEI T HEL 0.410 x 0.950 x 3.110 = 1.21
m3
HEIEEI T = 0.410 x 0.950 x 3.110 = 1.21
iR BEL m3
KRitaET T 1.21 = 1. 21
HHIEE & m3
FBtmET = 1.21 = 1.21
m3
HBigERT A0y 0.820 x (0.950 x 0.670 — 0.107) = 0.43
m3
HBigERT HAEL 0.820 x 0.950 x 2. 440 = 1.90
W=0.95m m
BREMXREAT H=3. 50m 0.820 0.82

EERmE 0.3702x  3.14 = 4 = 0.107
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LIHTRS (cm) KR E (U

5cm 1.15
10cm 2.30
15cm 3.45

HEX(BESem)m&HBT=Y
PIBTEE R (m) X AKE= = K (LR

872.7 X 1.15 = 1003.61
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